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A =S =4 (x84 uS/UE0sE - 283508
¢4 tzsns=yd (&2 &
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2N -3 - c2(3H) - NEME - HES Ol & oK Oﬁ/TFOH Hns
HAaHA 248432 XA 28,000 28,000 0
< 14,000
Al 14,000
307 2I2t0|™ 28,000 28,000 0
& 14,000
Al 14,000
09 2xHHEXZ2 28,000 28,000 0
ONAMHA 2g&AEHZ XA 28,000,000 28,000
& 14,000
Al 14,000
TN 2XXY SEHA 2 144,000 0 144,000
< 38,000
Al 106,000
405 XH&HF SHI 144,000 0 144,000
< 38,000
Al 106,000
01 AL =EFH SHI 144,000 0 144,000
O2gHA 2 (200) 144,000,000& 144,000
& 38,000
Al 106,000
Sgusaso 2 X 245,000 0 245,000
& 122,500
Al 122,500
405 XHAHFE S| 245,000 0 245,000
= 122,500
Al 122,500
01 AL =EF SHI 245,000 0 245,000
OUNEAX SEHAl 2 (7U) 245,000,000& 245,000
o= 122,500
Al 122,500
AU - sHEHA UHIX X 20,000 0 20,000
& 10,000
Al 10,000
402 QI+ XHE01A 20,000 0 20,000
< 10,000
Al 10,000
01 Q2B =X 20,000 0 20,000
OL-ZEHA HHX K& 20,000,000& 20,000
o= 10,000
Al 10,000
NEANEES 44X L 22 880,000 1,105,000 A225,000
HOoAEZE &AX & 22l 290,000 485,000 A 195,000
401 Al&HI Y20 290,000 485,000 A 195,000
01 Al&HI 288,560 482,120 193,560




A E2NS
HH: 51E 24 (3L nE/HSRE - 2RSIIE
R WSAEE X € 2 (etel: =3
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0 & 24
osZd d& ¥ WH 198,560, 000& 198,560
OHAESE CHUHEXNE X 2 WX
20,000,000& 20,000
oHAsdE EXE RANE+ 20,000,000& 20,000
O=Fx=X X X ¥ Wi 10,000,000& 10,000
ok -2 =X &M 2 Z= 30,000,000& 30,000
03Z & -2 =XE AMdsS €1
10,000,000& 10,000
03 AIE20bl 1,440 2,880 A 1,440
osZd M4 2 WA 200,000,000 *0.72% 1,440
M AE=E &R & 22 590,000 620,000 A 30,000
401 A EHIL 204 590,000 620,000 230,000
01 Al&HI 588,848 618,560 N29,712
OXtE M 158,848,000 158,848
OouwsotdEX® 4X & 2= 70,000,000& 70,000
okzEXdg &1 € 2+ 30,000,000& 30,000
oatHE: F&)| £X 30,000, 000& 30,000
Ouws4dsI| A4 -2 W 200,000,000 200,000
Ounsds) & WSHEEXE - “HEAN &
Al 2e| 100,000, 000& 100,000
03 Al =R04dl 1,152 1,440 A288
OXt& M 160,000, 000& *0.72% 1,152
WE23t 24 grek 103,080 87,944 15,136
=8 =i o= 59,880 49,080 10,800
201 et 33,200 23,200 10,000
01 AtS 22/t 7,000 7,000 0
ogel=gHl 4,000,000& 4,000
O=&l 3,000,000& 3,000
02 2323l 26,200 16,200 10,000
OZ332=<LHA 4,200,000 4,200
OA&EZEHIS X 10,000, 000& 10,000
O Xt gth| 12,000,000& 12,000
301 Ypt8azg 6,680 5,880 800
10 BAIAHIEA S 6,680 5,880 800
OZEBUSEMAL FHA HHIEH
1,680,000& 1,680
OunsX< s F0A &HE24 5,000,000 5,000
402 QIEHE01H 20,000 20,000 0
02 SIZ2+CHEM At I 20,000 20,000 0
O3 xte= CCTV | Xl2tel 20,000, 000& 20,000
AAsSx S5s2el 43,200 38,864 4,336
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201 LetEdH| 35,000 32,000 3,000
01 Ar22+2/H] 14,000 14,000 0
OFELIES= L] 14,000,0002! 14,000
02 23234l 21,000 18,000 3,000
OBZQ=LAA 21,000,0002 21,000
402 RIZEXHEO0IA 7,200 6,264 936
02 QIZHCHE ALY 7,200 6,264 936
OXsSA Asds T8 X2
3,600,000& 3,600
OREE ¥ SUEXXZE 22lAAE S22
3,600,000€! 3,600
405 XHarE SHI 1,000 600 400
01 TN ESHSHI 1,000 600 400
OPTHYXI Xt SH=2 Jhoilzt 22 400,0002 400
ozZzH P 600,000 600
2 8-IY U FHY(+SLDS/E2) 14,591,971 14,045,014 546,957
= 1,000,000
2 1,195,000
L= 550,000
Al 11,846,971
NE & - 28 3,522,851 3,337,644 185,207
2 1,000,000
== 550,000
Al 1,972,851
NENEZ olZet 2= 2,050,000 130,000 1,920,000
2 1,000,000
== 550,000
Al 500,000
401 A& HIZL 2T 2,050,000 130,000 1,920,000
2 1,000,000
L= 550,000
Al 500,000
01 Al&H 2,042,260 129,064 1,913,196
OZId NENEZ HEY FAFAY
1,992,800,000& 1,992,800
= 996,400
== 498,200
Al 498,200
OZ=2FH JI=2HE+Y 82 49,460,000 49,460
= 49,460
03 Al&=20H| 7,740 936 6,804
O&9d NNENHEZ HFY 2SI ALY
2,000,000,0002 *0. 36% 7,200
2 3,600
= 1,800
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I C2 & - 2F & JU(+32NE/E2)
ool AE .- 2H (e & E)
< _ o A
SN -3 S2ARAH) - MFAY - BES O &F 2R Ol AF o8 HlusZ
Al 1,800
OZ2FHl Jl2He+8 89
50,000,000 *1.08% 540
< 540
NE DSZZA 7,851 7,644 207
101 24y 7,851 7,644 207
04 JIZH22 NS E 7,851 7,644 207
OANE NSEZA 7,851
ooley 33,0002 *8L *25JH & 6,600
o 2tAlY] 5,0008 «8 & *25JH A 1,000
oI EE S 6,600,000 +3.8% 251
G2 E2 = -2F 250,000 600,000 A.350,000
401 Al EHIZ S 250,000 600,000 A.350,000
01 AlZH] 248,425 596,220 A347,795
OH=~-8X2t =2 & - ZF 248,425,000 248,425
03 Al&Z=CHHI 1,575 3,780 A2,205
OL=2~-2X2% &2 & . Z¥
250,000,000 +0.63% 1,575
SA4-2AR C2 2. LF 500,000 500,000 0
401 AIEHIZLSTHYI 500,000 500,000 0
01 Al&Hl 496,400 496,400 0
O=s4~2=2t =2 8- IF  496,400,000& 496,400
03 Al&Z=CHHl 3,600 3,600 0
O=S4~ZA2 £2 & - ZF
500,000,000& +0.72% 3,600
OlE8X 24 65,000 200,000 A 135,000
401 Al EHIZ LTI 65,000 200,000 135,000
01 Al&Hl 65,000 200,000 A 135,000
ODI2EX 243 65,000,000 65,000
FEMelt £2 & - 2F 500,000 400,000 100,000
401 Al EHIZ LY 500,000 400,000 100,000
01 AlZH] 496,400 397,120 99,280
OFe~tha2t =2 = - ZF  496,400,0002 496,400
03 Al€=0isl 3,600 2,880 720
oF=2-t2t =2 & - ZXF
00,000,000& %0.72% 3,600
40t YR & -2y 50,000 0 50,000
401 Al &HIZL S 50,000 0 50,000
01 Al&H 49,460 0 49,460
O4FOS MUZ & - 2F 49,460,000 49,460
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SN -EHH . (B) - MPAY - BE2 Aol il i~ o =2
03 AIZ R0l 540 0 540
oONHOlE AYR . EX
50,000,000 *1.08% 540
Ze2Am T2 2.1y 50,000 0 50,000
401 Al&HI YR OHYI 50,000 0 50,000
01 Al&H| 49,460 0 49,460
o=Ze~d32 &2 & - 1L H 49,460,000 49,460
03 AlZ=R04Hl 540 0 540
OF-AFL T2 - EF
50,000,000 *1.08% 540
=0t dg=2 & - 2F 50,000 0 50,000
401 Al&HIZL=ROHYI 50,000 0 50,000
01 Al&HI 49,460 0 49,460
OtiELS M2 & - XL 49,460,000& 49,460
03 Al&Z=0HHl 540 0 540
oWEllE FYR & . EE
50,000,00021*1.08% 540
SHEERZ & - 2% 5,010,000 4,820,000 190,000
SZOtEL 0~ MO SH E2 & - ZH 300,000 200,000 100,000
401 A EHIL 201 300,000 200,000 100,000
01 Al&HI 297,840 198,560 99,280
OSOIT-BIH0ISA T2 & - TF
297,840,000& 297,840
03 Al CHl 2,160 1,440 720
OS2I -3 H0ISA T2 & - TF
300,000, 000& *0.72% 2,160
sS20s Az & - 2 & 150,000 700,000 A550,000
401 Al&HIZL=ROHYI 150,000 700,000 550,000
01 Al&HI 148,920 695,590 A546,670
OSY0tS AYR = EH 148,920,008 148,920
03 Al =R0HHl 1,080 4,410 A3,330
OS2l AYR & . EE
150,000,002 0. 72% 1,080
2% SAMEZ g ILE 400,000 300,000 100,000
401 A EHIL 204 400,000 300,000 100,000
01 A&t 397,120 297,840 99,280
2% B2 & - 1LE 397,120,000& 397,120
03 AIZ 204l 2,880 2,160 720
OZY BMNER . EE
400,000,000& *0.72% 2,880
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SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 HlusZ
NE 22 C2 &.-2% 300,000 1,400,000 1,100,000
401 A EHIZ LTI 300,000 1,400,000 A1,100,000
01 Al&Hl 297,840 1,394,960 A1,097,120
ONZ 2ELZ & - ZF 297,840,000 297,840
03 AlZ=CHH 2,160 5,040 A2,880
ONZ ZEER & - ZH
300,000,000& +0.72% 2,160
SEAMEY 2 & 2F 1,300,000 500,000 800,000
401 Al EHIZ LY 1,300,000 500,000 800,000
01 AlZH] 1,295,320 496,400 798,920
OsE~4E2 =2 & - ZF 1,205,320,0002 1,295,320
03 Al€=0isl 4,680 3,600 1,080
OZE-MNE2A =2 & . 2F
1,300,000,0002 *0. 36% 4,680
FEZIN C2 - IF 650,000 400,000 250,000
401 Al &HIZL S 650,000 400,000 250,000
01 Al&H 645,905 397,120 248,785
OFH-~ZH =2 & - ZF  645,905,0002 645,905
03 Al&=CHHl 4,095 2,880 1,215
OFH-ZTHL T2 & . L
650,000,000 +0.63% 4,095
AN NYER & - 2H 200,000 400,000 200,000
401 AIZHIZLSTHYI 200,000 400,000 200,000
01 A&l 198,560 397,120 198,560
OZIN MNUEZ & - 2F 198,560,000 198,560
03 AlZ=CHH 1,440 2,880 1,440
OETPX TUYER & - ZH
200,000,00091%0.72% 1,440
olol~ofl 2t &2 = - 2F 500,000 200,000 300,000
401 Al EHIZ 2T 500,000 200,000 300,000
01 Al&Hl 496,400 198,560 297,840
O o~0il=2t =2 = - XX 496,400,000 496,400
03 Al€=0isl 3,600 1,440 2,160
oo~ £2 = - ZF
500,000,000& +0.72% 3,600
Ul nite A2E2 & - 2y 400,000 100,000 300,000
401 A EHIZ S 400,000 100,000 300,000
01 AlZH] 397,120 99,100 298,020
ONHUXZ ALER & - ZF
397,120,000 397,120
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SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 HlusZ
03 AlZ=CHHl 2,880 900 1,980
ONHUXZ HHEE2 & - 2F
400,000,0002 %0.72% 2,880
SE5-532 &2 & - 1¥ 50,000 0 50,000
401 A EHIZ LTI 50,000 0 50,000
01 Al&Hl 49,460 0 49,460
o=ss-c32 &2 & - 2% 49,460,000 49,460
03 AlZ=CHH 540 0 540
025232 &2 & - L%
50,000,000 *1.08% 540
SYMS-BIN+N 472 =2 & - 2F 400,000 0 400,000
401 A EHIZL LY 400,000 0 400,000
01 AlZH] 397,120 0 397,120
OS3U=-SINFA 72 E2 & - 2F
397,120,000 397,120
03 AlZ=ChHl 2,880 0 2,880
OS3U=-SINTA 72 £ & - 2F
400,000,0008 %0.72% 2,880
MO RYER = .2 H 100,000 0 100,000
401 Al EHIZ 2T 100,000 0 100,000
01 Al&Hl 99,100 0 99,100
OMCITYEZ & - L F 99,100,000 99,100
03 Al&Z=CHH 900 0 900
OMOIEUER & - ZLF  100,000,0002 +0.90% 900
TENS dYR & .- ¥ 50,000 0 50,000
401 Al EHIZ LTI 50,000 0 50,000
01 Al&Hl 49,460 0 49,460
O E0t2 XYz & - ZF 49,460,000 49,460
03 AlZ=CHH 540 0 540
o180t gz & - 2
50,000,000 *1.08% 540
dgole MYz = -2 50,000 0 50,000
401 Al EHIZ 2T 50,000 0 50,000
01 Al&Hl 49,460 0 49,460
OcEs MY2 & - 2F 49,460,000 49,460
03 Al€=0isl 540 0 540
odgits MYz & -2
50,000,000 *1.08% 540
ENEZ 8- 2T 50,000 0 50,000
401 Al EHIZL S 50,000 0 50,000
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01 Al&t] 49,460 0 49,460
OENEZ 2. Z& 49,460, 0002! 49,460
03 Al& S CH| 540 0 540
OENER & IX 50,000, 00021 +1.08% 540
SY¥5e-SYRIN T2 B TF 50,000 0 50,000
401 Al&HIL 20| 50,000 0 50,000
01 Al&H] 49,460 0 49,460
OS2 ~FH3RIN T2 BT
49,460,0002! 49,460
03 Al& S CH| 540 0 540
OFs2-FH3RIYN T2 - TH
50,000, 0002 *1..08% 540
SHEZREEDIZH SR 60,000 0 60,000
401 Al4HIL 20| 60,000 0 60,000
01 Al&H] 59,460 0 59,460
OSHEZ2IUIIIZH LS
59,460, 0002 59,460
03 Al& S H| 540 0 540
OSHEZ2IHIIIZH LS
0,000,000 %0.90% 540
AHT2RENLAL 500,000 360,000 140,000
=l 250,000
Al 250,000
BT AENLAL 500,000 360,000 140,000
3 250,000
Al 250,000
401 Al&HIL 20| 500,000 360,000 140,000
3 250,000
Al 250,000
01 Al&H] 496,400 357,408 138,992
OABTZ PENLAL 496,400,0002 496,400
3 248,200
Al 248,200
03 Al& S CH| 3,600 2,502 1,008
OIBEZ PEMLAZ 500,000,000 *0.72% 3,600
3 1,800
Al 1,800
DEANDRSRHHAY 290,000 180,000 110,000
3 145,000
Al 145,000
DEADRSR WL 290,000 180,000 110,000
3 145,000
Al 145,000
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Ol &k 4
401 Al BI2 2 CHY| 290,000 180,000 110,000
z 145,000
Al 145,000
01 Al 287,912 178,704 109,208
OMSADRSR HHMY 287,912,008 287,912
z 143,956
Al 143,956
03 Al&=OHHl 2,088 1,296 792
OMSADRSE HUAMY
290,000, 000! %0.72% 2,088
z 1,044
Al 1,044
210|252 H A 600,000 1,600,000 0
z 800,000
Al 800,000
OlEl0l257 A 600,000 1,600,000 0
z 800,000
Al 800,000
401 Al HI2 2 CHY| 600,000 1,600,000 0
z 800,000
Al 800,000
01 Al 594,240 1,504,240 0
OORIOIZE T MHHAIY  1,504,240,0002 594,240
z 797,120
Al 797,120
03 Al&=OHHl 5,760 5,760 0
O0RI0IBS T M AY
1,600,000,0002! 0. 36% 5,760
z 2,880
Al 2,880
23| 3,669, 120 3,747,370 AT78,250
=2 HH| 960,000 485,000 475,000
401 Al&2HI2 2 CHY| 960,000 485,000 475,000
01 Al 953, 160 481,670 471,490
o=Z A2+ 297,840, 0002 297,840
O0RIOIZETY HHAY RX 24
148,920, 0002 148,920
OSZHHIAIY &AL 30.,000,0002! 30,000
ONE DY 0HEZ 2 99, 100,0002! 99, 100
ONE DY 24 297,840, 0002 297,840
OCHEE2 BHA Il 49,460,0002 49,460
O8Y0lS T2EMX B2 30,000,008 30,000
03 Al&=OHH] 6.840 3,330 3,510
ocE A2+ 300,000, 000! %0.72% 2,160
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A -3 -H2A(SH) - HEAMY - BES Off Ak OH dd = Hlns2t
Ol A OH
ONBIOIEE R HEAIY SXIB2
150,000, 0002 *0. 72% 1,080
ONE NE AHHFA 8
100,000, 0002 *0.90% 900
OANE DY B4 300,000,0002 *0.72% 2,160
OCIE =2 ZIX HHl 50,000,000 *1.08% 540
2T HY| 260,000 420,000 A 160,000
401 Al HILRHYI 260,000 420,000 A 160,000
01 Al&HI 257,480 416,580 A 159,100
2Eey niy ¥ 25 99,100,000 99,100
OEESXY BT 49,460,0002 49,460
OFsXY 2= 49,460,000 49,460
OSME SHEHIf2I~2t BT B & H|
59,460,0002 59,460
03 AlZ=0HHI 2,520 3,420 A900
O2=E% WH <L =24 100,000,0002 *0.90% 900
OYESXY 2= 50,000,0002 *1.08% 540
OT32IXS 2= HH 50,000,0002 *1.08% 540
O=sAM= oHEH H2I~2AHBHE 2 B & F |
60,000, 0002 *0.90% 540
mba=Fslc] 130,000 460,000 330,000
401 Al HIL2HYI 130,000 460,000 330,000
01 Al&HI 129,100 456,580 A327,480
onxz 99,100,000 99,100
OAD|I MR = 30,000,000 30,000
03 Al&=20HHI 900 3,420 A2,520
oOnxz 100,000, 0002 *0. 90% 900
Bi =2l 190,000 200,000 A10,000
401 Al HIL S HY] 190,000 200,000 A 10,000
01 Al&Hl 188,920 198,560 A9,640
OEZ2 ES7AE FHl 49,460,000 49,460
OZ 2 Hi4=AlE HHI(ZSUHI) 49,460,000 49,460
OE2 LAHHY| 30,000,000 30,000
sa6el ©2 =3 HH| 30,000,000 30,000
OMFAZ €2 22 =] 30,000,000 30,000
03 AlZ =20 1,080 1,440 A360
O%Z AL FYl 50,000,0002 *1.08% 540
O&Z tia=Ald HUl(=<Udl)
50,000,0002 *1.08% 540
CERNUZH 100,000 230,000 A 130,000
401 Al HIL2HYI 100,000 230,000 A 130,000
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SN C2nSH
I £2 & 2F & JU(+32NE/E2)
Eel: =2 FY|

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
01 Al&H] 99, 100 228,560 A 129,460
oEz32uH 99, 100, 000 99, 100
03 Al&=20HHl 900 1,440 AB540
(OES=PEIE P, 100,000, 0002 0. 90% 900
CRHEZH 650,000 730,000 A80,000
401 Al&HI LS 650,000 730,000 280,000
01 Al&H] 645,410 724,960 A79,550
OT2UMNR)| ZTE(SKH) 347,480,000 347,480
OEHMNRI| LA(SHXIE) 198,560,000 198,560
ONE - SHEEZ ST M 30,000, 000 30,000
o=2s0ts MU MEZEH 69,370,000 69,370
03 Al&=2CHHI 4,590 5,040 A450
OER2HMNRI| LA (SXA)
350,000, 00024 *0.72% 2,520
OEREHMNLR)| LA(SHXH)
200,000,0002 *0.72% 1,440
O2F0I2 Y2 MIZX 70,000,000 «0.90% 630
CRAIEE &% L 22 1,150,000 990,000 160,000
401 Al&H|LLHY| 1,150,000 990,000 160,000
01 Al&H] 1,145,230 986,490 158,740
OZ2R X2l AAl&HY 60,000,000 60,000
OZ2EAIE &X ¥ HH 49,460,000 49,460
OZZEXE &X ¥ HH 49,460,000 49,460
O ZOMAILEE HH| 99, 100, 000 99,100
OFERE ¥ 2#HSAE EXE &X
20,000, 000 20,000
OAES HACH~BIE A X2t OLMEIA A
69,370,000 69,370
OE=2 ECHEE QA S(LZE EXed)
A X 297,840,000 297,840
ONEAND AEE2 21Z2FH| 500,000,000 500,000
03 Al&=2CHHI 4,770 3,510 1,260
OZ=ZEAIE &X & AHY
50,000,000 *1.08% 540
OE2EXE &X 2 HH
50,000,000 *1.08% 540
OZRCHHMAI&E2 AU 100,000, 0002 *0. 90% 900
OAES HAH~BIE AT X2t OLMEIA M|
70,000,000 0. 90% 630
OEZ SCEE A2 (LH2E HXEH)
A X 300,000,000 *0.72% 2,160
SHEZR Xz 170,000 165,000 5,000
401 Al&HIZL LY 170,000 165,000 5,000
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fA E2USH

A £ 8.2 U FH(+S5LDS/E2)
el =2 d (A :H2)
SA B OR(B) - NRAY - BAS AroH e 2
01 A48l 170,000 165,000 5,000
Os0HEZZ dBIAtE &AIZA 20,000,000 20,000
OsHEZZ FAZ=A 150,000,000& 150,000
CEaRE 2 10,000 10,000 0
307 2ztold 10,000 10,000 0
05 22t = 10,000 10,000 0
o-&H4 A5ACIES 10,000,000 10,000
C28H #3AH 49,120 57,370 A8,250
201 €er=gl 27,120 30,120 A3,000
01 AtR2teldl 8,120 8,120 0
o=d=+d¢ 3,120,000& 3,120
o=gtl 2,000,000& 2,000
oOgiz 3,000,000& 3,000
02 E&2gH| 19,000 22,000 A3,000
OAZ&HI:XHl 7,000,000& 7,000
OXt& et 12,000,000 12,000
206 M= Hl 18,000 22,200 N4,200
01 M=Z8l 18,000 22,200 A4,200
OMEIMN & 5,000,000& 5,000
O==2FA M- 3,000,000 3,000
OkZ2E+E t77Y 3,000,000 3,000
OEZUHTAIEE 7L 3,000,000& 3,000
OxZANd=E 228
4,000,000 4,000
403 AXIEHHSAH201H 4,000 4,000 0
02 SJI2SOltHettieAIS 4,000 4,000 0
OFFIANL(Z2EAHESR) 4,000,000 4,000
HY2IZU(E2 RS W) (DIEH/IIE 594,639 505,900 88,739
g 2| 508,439 421,100 87,339
g 2 508,439 421,100 87,339
101 el 504,239 416,900 87,339
03 RIAAZ 22+ 504,239 416,900 87,339
OSYHFF1 th&(49¥) 79,095
olles 42,6203 4 255 43,473
cd0=z 43,473,000 %4/12 14,491
o2 HI=E 43,473,000 *10% 4,348
ocRgrgdsd 42,6203 x4 H »52L 8,865
oAXt=E 42,6203 x4 H x 154 2,558
oA22RdE 8,000 x4 24| 2t+30& 1,920
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2N E2USH
H: HNSHAHH(E2wSH)(JIEHDIE
el oYy (chel: =&
A -3 -H2A(SH) - HEAMY - BES O AF K glggf; Hos
=11 7,000& x4H 60 1,680
oIl =l 220,000& 4 H #23] 1,760
o=z ¥ LANIE S5 (18Y) 425,144
oJllzag 200,028,000& 200,028
c&03 200,028,000 *4/12 66,676
odHItAZ 122,240,000& *10% 12,224
ocRasgdrY 40,649,000 40,649
cHXtY 13,336,000& 13,336
oEg =g 30,0003 *18E «12& 6,480
o g | 100,000 «18F «12& 21,600
ocXAATHAS+Y 50,0003 »18F 12 10,800
cuws 2Ll 70,0002 x18H «12& 15,120
SAZIAZRH 26,502,000& 26,502
o522 2Y 9,029,000 9,029
= Il 24| 150,000& *18H 2,700
203 HRF&H| 4,200 4,200 0
04 FN2ILRFAHI 4,200 4,200 0
ORMEZZE HRF&HI 350,000& «12& 4,200
Jl23| 86,200 84,800 1,400
Jle=3d| 86,200 84,800 1,400
201 Yer29| 7,000 8,000 1,000
01 AFR 22| 7,000 8,000 A 1,000
O get=ZH| 4,000,000& 4,000
ozl 3,000,000& 3,000
202 (4| 79,200 76,800 2,400
01 =W 79,200 76,800 2,400
OZUEZENHI 79,200,000& 79,200
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